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3
SECTION -1
qug - |
CHILD DEVELOPMENT AND PEDAGOGY
e fereha va frereme

There are 30 questions in all in this section.
All questions are compulsory.
A EUE | eI 30 TH 7 |
aft e SAfaRt § |

Dyslexia is :

(A) Difficulty in reading skills (B) Difficulty in understanding maths
(C) Difficulty in writing spellings (D) Difficulty in competing
fexciferean svad 2

(A) e U hisTS (B) IOt Twe H ShisTS

(C) oat fora | wiers (D) wfcraet & siers

Formula of IQ is :

(A) %XIOO (B) f/&xmo E‘%
CA x 100 MA

©) T MA (D) axlOO

gfg Afea e HTEA &

(A) %XIOO (B) M/meo
CA x 100 MA

(O v (D) Ja x 100

Assimilation is :

(A) Current schema to interpret the external world
(B) Process of changing to better

(C) Adapting to internal world

(D) None of these

STTCHEATERLT &

(A) IAHT THITT ST TN STET ST o fowersor & fog

(B) g s i wlsha

(C) 3ATaReh g o TR 2T

(D) ¥ @ i3 off e

The three pillars of education are , and .

(A) Teacher, Student, Curriculum (B) Principle, Teaching, Aim

(C) Education, Methodology, Teacher (D) Importance, Teacher, Objectivity
Treqn <6 <ffe wig@ SMUR @ : T |

(A) Trers, B, TrgHsHn (B) T, fewr, sew
(C) Turem, Toranfafer, foers (D) Ted, feres, aegiEdr




) PL-2

A series of pictures is shown to the subject and he is asked to make a story, is used in

projective technique.

(A) TAT (B) Role Play

(C) Rorschach (D) Dramatic Production

=fad w1 =1 6l T HEa @R It & 31K 38 Th HeHl a1 o o1 hal Il g, I8
o e A T R ST R |

(A) HUHH TIL Fe (B) yftrer frafe

(C) U (D) Teh v Eﬁ

Which among the following is not a subjective method to assess personality ?

(A) TIndividual history (B) Interview technique

(C) Inventory technique (D) Rating Scale
frefafaa § @ @ =t safddca 1 3teheH S & fordl veh Safaama fafy 7€ @ 2
(A) aferT 3o (B) HIEThR Thet

(C) FEgH qHfieh (D) frufor arh

Which among the following doesn’t fall under the classification of mental retardation ?
(A) Mild retardation (B) Moderate retardation

(C) Severe retardation (D) Acute retardation

frfeTRad @ & =1 |1 AR HedT o SHieor o T T A 8 7

(A) Eoh! Hedl (B) Heam Hedl

(C) TvR Hea (D) g wea
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10.

11.

12.

o) D

According to Right to Education Act, 2009, no school to be established without obtaining
certificate of :

(A) Appreciation (B) Recognition
(C) Terms and Condition (D) Authorization

RTE 3faf=m, 2009 & @R, f=faRea fea ymmor-um & faar % foemerm wenfua ==
fepan SR ¢

(A) I (B) HRIT

(C) Tremugwd (D) WIferehR

Any relatively permanent change in behaviour or behavioural potential produced by
experience is called :

(A) Learning (B) Thinking

(C) Cognition (D) Motivation

3TV R 3091 S8R A1 HagR &wdm # foreft +ff sTarmeha Tumlt afted gl ST
gl

(A) Aty (B) fe=mm
C D) RO o
(C) gl (D) i
Which among the following is involved in learning process ?
(A) Physiological (B) Psychological
(C) Environmental (D) All of the above
freferfiea ® & T <t fshan ® smfte & —
(A) W (B) TS
(C) uTeRoft (D) 3uTrerd At
The is the immediate environment in which the individual lives.
(A) Microsystem (B) Mesosystem
(C) Exosystem (D) Chronosystem
a1 feheam ararenor 2 foed safad war g |

(A) H&u guref! (B) WaITEEH
(C) T fawen (D) hIcTshA

proposed the theory of multiple intelligence.
(A) Howard Gardner (B) Freud
(C) Binet (D) Thurstone

1 9g-9fg 1 Hga e R g |

(A) TGS MER (B) %S

C) fm (D) oA
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14.

15.

16.

17.
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Which out of the following is not a biological determinant of personality ?

(A) Nervous system (B) Ductless glands
(C) Somatic structure (D) Situational structure
frefafaa 9 @ wF sfada o1 Sfas fuafes T8 8 2

(A) dbremrax (B) afeEA Tfomt
(C) aféeh weemT (D) Teuferst= e
Which of the following is not a general law of heredity ?

(A) Progression (B) Variation

(C) Regression (D) like begets like
frefafaa 9 @ @ smgaferdr s amm= fFem Tgi g 2

(A) STl (B) ®IR

(C) g (D) ST EA g

As per Right to Education Act, 2009, Elementary Education means :

(A) Education from first to eighth class (B) Education before first class
(C) Education from 8th to 12th class (D) Education in middle school
RTE 31f¥fa=m, 2009 % 78R rfires frem o1 319 8

(A) Uge! hedT § ST el deh <hi e

(B) UMW 2vft ¥ Uge hi frem o
(C) ATl | Sgel shefl deh i frea LY
(D) TTehes farem

In the field of mechanism of heredity, modern studies have been done principally in which
direction ?

(A) Cytology (B) Biometry
(C) Experimental breeding of animal (D) All of the above
IS o % 37e7a o & °, T we fope feem <t 3T 3w E 7

INBEIIEEIEEIC] (B) Shafufa

(C) Sl ST I I (D) 3udrerd Tt

RTE Act, 2009 directs working hours per week for teachers.

(A) 40 hrs. (B) 45 hrs.

(C) 42 hrs. (D) 48 hrs.

RTE arfurfaem, 2009 frerent 3 ford ufe aedre fohas o2 %m w0 &1 frdm ean @ 2
(A) 4080 (B) 458w

(C) 429w (D) 489w
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18.

19.

20.

21.

22,

) D

In giving instructions to the mentally retardeds the teacher must keep in mind that they :
(A) are able to pass examination

(B) learn more vocational skills

(C) work hard to compete with normal children

(D) spend time in competitive games continuously

Trerent o1 aifies w9 O fafére o o1 e <o wmr I8 e W =nte fop o
(A) e vl e wem g |

(B) 3Aferes sATadTRIeh SHivrel €19 |

(C) M= =i o a1 Tfaeaei s & fordl sher ufesm &t |

(D) AR Sfeeelf @at d gue foamd |

Learning through Reward and Punishment is :

(A) Observational learning (B) Social learning

(C) Operant conditioning (D) Classical conditioning

TSR TUT GUS o WL § HIGHT & :

(A) JeFureHs TferT (B) @R T

(©)  forammea srgarer (D) A e Em
5T

Which of the following is not a step in conducting scientific research ?

(A) Conceptualizing a problem (B) Revising research conclusion

(C) Collecting data (D) Dynamic approach

AT T e oh! T # F=fTRad # € s 91 T heH T8l & 7

(A) T THET I TTIRIMT (B) GunYH My ey

(C) 3aR ATl Tehst BT (D) Tifarsfiet gf¥shron

of the test refers to the consistency of scores obtained by an individual on the
same test on different occasion.

(A) Reliability (B) Validity

(C) Objectivity (D) None of these

g <t 1 TeH o T T T T & adiegur W foneft sfe gro s reument ht
T AR |

(A) Tovagra (B) dear

(C) =EgfEm (D) T & S Tl

Right to Children for free and Compulsory Education falls under Act :
(A) 2009 (B) 2012

(€) 2005 (D) 2010

Sl ! o 3R Tfare freat w1 arferenm fopm arferfaem %6 st=arfa smaT @ 7
(A) 2009 (B) 2012

(C) 2005 (D) 2010
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24.

25.

26.
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In the identification of the gifted, we must give priority to :

(A) the parents’ opinion (B) result of objective test
(C) teachers’ opinion (D) the community viewpoint
siferwmeTTet 36 wEe | g6 fiekar ¢ e

(A) TTaT-Toa &t T (B) o&qs wlier 1 aioms
(©) el i (D) wHeTTe gfewhm

According to Freud, the primary structural elements of personality are :
(A) Conscious, Subconscious, Unconscious

(B) Id, Ego, Super-ego

(C) Pleasure principles

(D) Defence mechanism

IS o IR, SAfadcd o AT TS ad &

(A) <dH, 3d=dH, 3= (B) 3gH, 3T8H, WY .
. . B

(C) e = fogra (D)  T&fTesh S g

Tendency of body to maintain a steady state is :

(A) Homeostatic (B) Balance
(C) Fostering (D) Drive
TR 3Tae SR T o forl 3R < Wi i Fel A1 8
(A) wmfRafd (B) HgeH
(C) o (D) Srom

Sita works at a day care center. The pay is low and hours are long. But she loves being
around children & has no desire to look for a higher-paying job. Sita’s motivation appears
to be :

(A) Intrinsic (B) Extrinsic

(C) Selfish (D) External

AT Tk S haX T H W I & | Ja S & T W o U A @, Tichd 98 Tl o STEIE
TET g Sl B 3R 3= a1l Al it aeTre i <l BiE 3=1 T8 @t 8 | Fiar A
IRoT fohe SehI St Tt & 7

(A) 3Iaie (B) wT&d
(C) ameff (D) &l
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27.

28.

29.

30.

)
Mental activity that goes on in the brain when a person is processing information is called :
(A) Learning (B) Mental imagery
(C) Thinking (D) Concept

S g Ao GRS I A L &l Bl & ol Hiedssh § <o el qHiee ety
HEAT & :

(A) 3t (B) WY Heol

(C) Tommo (D) Hhedl

Which of the following has not been shown to help maintain a healthy level of cognitive
functioning ?

(A) Participating in games (B) Working crossword puzzles

(C) Sedentary lifestyle (D) Reading

freafafaa & @ * @1 damTES HE Ugfd 6 W W R SR WH § Ueg B & ol
SUH TE @ ?

(A) SRIST T 9T & (B) ShIE-9E Ygeil U T8 AT

[E;5 ]
(C) 3T Sfre et (D) UGS HE ELY
“Life presents a continuous chain of struggle for existence and survivals.” is said by
(A) Darwin (B) Shaffer
(C) Jerslid (D) Spencer

Shrar, JTfeaca o Ha 3R I ot 3hi Ueh Had @l T&qd il & |” 3 fohaeh gr1 el T/
87

(A) eIfdA (B) 3T

(C) e (D) T

Which among the following is not a major period of cognitive development given by
Piaget ?

(A) Sensorymotor stage (B) The pre-operational stage

(C) Cyclic stage (D) Formal operations

et g feu T wsTees foeha & fagra ® frefefea # & & @1 faem =1 yq@ wre’
T2 7

(A) G ety (B) Yd-Hfshareaeh ferfa

(C) <shi =T (D) 3= T
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Qug - 11
HET -1
fe=
THEUSH FA30 THZ |
aft wwe SAfEr £ |
TS - Jehi % 3TT=Teh awal A & i a8 —
(A) T (B) ch
(C) o mmft (D) 3N et
TTE S TAT o A TARGY |” T 1 TR & -
(A) wglehed ™ T (B) TTERR Y
(C) TrayTeHs g3 (D) afiehd I
frefaRaa wreai # o7 o= <6t ST ferrdT aen Ui -
(A) Torvemfiaan (B) dua
(C) fereaTaehe (D) ARG

T e SATIh oo JUNTeT 3T & Tieg I8 ATHeht avfl 81 Tehdl! & 91el

(A) Teoh 9e1aTd e B, TTAReh Helich o dfieh T&T o JTedish 3TeTTT-3TehT g9ITd |
(B) Tereni, ST wa 1fTeehi 6t T -T9T WA T 7 |

(C) B I TR e o1 a1d 54 a8 ved & |

(D) Treres 9 BT QAT whem3T ° =k @ g 3= 37k T & |

FrefeTRa Tt 1 Ugeht I8 1T SR o ST fIRa : (S €. 35 44)

ogd @ T 3R 98d el § WS UgaTd ot 3Td B fohefl =N Srearamdl o1 1 &1 &1 dieh ohl

&7 %1 T 2 | 3o 3T & A fe@rs oY, Nwd, A iR et o1 foam vt | vE wed
IgTet Sl BT o ST T, I8 IR Tl hl Io1 & shienfe < |1 ged! foams 9o, 38
Ti=gd T TS | I HUT | TH HT HICA TG SHIL VAT 8 8 | 8 Aifcersh a1 & ; = o T |

TUE Y 1 3 Teh U 2 | TSTEUS TSI 2 3T cAlhehld YHehIT 3 | ST&T USTehld UHehlq O

Tohen T fo@Ts 1, 98l 3 TSiehid 1 HWeehl $ oIy TSl 1 SIY qHET IMfeT | THT i
STehIY o Tt 3T Ul o1 3R] &1 B Tehdl | 3Heh! THM ST 3794 foTU 3Terwares I8! a9
Hehdl |

3S.

G 96 1 T @ -
(A) i (B) Tifeera
(C) d&gd (D) gEY
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36.

37.

38.

39.

40.

41.

42.

43.

44.

(11 D

‘TR Tee H TR hT ThR B -
(A) TorE B) gty
(C) FUHY (D) & =Y
HTAT Iec H THH B -
(A) TgaumE (B) §g &=

[=]: =]
(C) dcqey q9TE (D) HHIRT THH ’Eﬁfi
frfeTRad sreal | WTaaTE T3 I & —
(A) 3E%h (B) o
(C) ufersrar (D) €
freafaRad weel o sreqw e @ -
(A) B (B) w7
(C) wfearh (D) BRI

g U e 3TN Sgd <hiel & WISl TEeTd <ot 31Td BT fehefl B STeareirdl =1 si+11 Tl &1 <reh bl
T HHT R | e B Y@ifehd wreg H fersiyor o1 TR B -

(A) TUrETEeh fermoT B) Tifvea ufmmoreTae fasiyo

(C) FAffyea ufwmoraraes femiyor (D) GehaaTeeh fa=Iyoy

Rrfererar vise § T I ISR & -

(A) HHETEH Hd T (B) SHUTETE Tl T
(C) WITeeTee dfgd Tead (D) ToRaTaT= hd T
‘g e T Fea e Yo g 1" — 9T o fole Ush I1eg B

(A) wifcaeh (B) Hrfeaeht

(C) @rcafeh (D) ¥ed

T ITeE 1 faelm e B -

(A) U (B) Ff@

(C) =hred (D) %l

(A) 3R (B) 39BN
(C) 3R (D) g
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frfarRaa st w1 Tget I8 T TE1 o ST fAfaT : (I e 45-50 T9h)

TRl 3Ry fed 3R Ta faemar sush gem ¥ srfawaia 3R syd snenfars wal i iy
HTT 2 | AT I 6 TR 31 A1 2l Ig 3! g e, M3 Iiet 3R 371 & o HLm 2 |
o 71 foRet Bt T TaT | AfE sHeRt IS e ¢ oft 3 o 36T 38 9 A6 B i 3Eehl
Wit gl-ull 2 ; T 38ehl gU <l 2, Bt SEehl AFEHICN 2, HehM $HBT T07 3R IS 1
M 2 | I ! T, et 1, RaeTmr-Tierrn, 3ueh s shi 319+ =i hl atg el T,
ol TR o el I8eh 1Y Td TR T 91 T 8 A g ? &, SRl 3R 31 <91 51
TopamT o <@ WA &/, 3T e o1 @l | % A A 31k el § — “Hiel WIg firet TUS” Wiel
wTet TR 1 $7eR AT Gel EIGR 1 g3 ol & | 37eh! B i ol H § g 3 =Iza1 o4-
TR Ik (o] T IS 8 | ¥ i o ST |19 3 |

TauTaT 39eh g6 | SATa=-19 3R STEHA STLATcHeh HIE oh! J18 ohidl & | Fferiaa s 5
Waiferd Ue § =1 371ef W@ arer e 8 -

(A) TRHTCHT ¥ Gra-el T@ arel | (B)  3ATcHT Taeft 3 |

(C)  SATCHT-TRETCH & H&-9 T a1 | (D) G- @YY TR |
freferfiea wregi # SgaaF weg & -

(A) FfE (B) ¥ R
(C) T« (D) T =
‘Gr@T Ig Tohdll ol T a1 8 | I TR HIA BT & ?

(A) TUf g (B) | Wfersrd T

(C) E W eI (D) SAHH HTA

Tt sreei 4 fir forg &1 e 2

(A) &Y (B) wHfd

(©) =z (D) S

ARl 37 v T 3 v fyemdr 6k ge # srfumai 3t srgya smenfores s i gfy
AT g |’ IR § {gifehd Iree kT faqtia forg g

INIRELIE B) faam

(C) fourd (D) ferem

< il < ST A1Y & |’ ST <l U1 S[eRTe | Seei T aTeRl R

(A) ¥ Thfd < Sa AT B | (B) ¥ Whfd < Sa AY & |

(C) ¥ hfd < STaT A1 B T | (D) ¥ YIE Yohfd & STaH |14 & & |
Freferiga et # faamaTess 9 g -

(A) IH A0 TRt B | (B) AMBEMEE |

(C) 35T 3TUHT HET TTH H | (D) 3T | Ig R !



PL-2
52.

53.

54.

55S.

56.

57.

58.

59.

60.

(13) D
TEHT o MR W o | § i e g -
(A) TS I (B) Tasrame=
(C) TmuTes I (D) HIHI I
T 5T TG ATG ST 378 I Tohe i aTeTl HETe & —
(A) I & EA (B) &SI A TS
(C) =R heheht TR ¢@HT (D) ©TE AT
“3TT@ 1 3741, TS T T FATehifad b1 A & -
(A) SIH-SEreR fauf A1 o | (B) quta: a-e & |
(C) W« A HT & HE M | (D) Ffge fobeg w7 |
T WT13TT o f3reror <6t whi= fafermn # @ i fafr g -
(A) o EE fat (B) 3rweae fafy
(C) wa fafy (D) UTeH - UITed! mm
O
Toreror IuTTH H 1Y TF IHEL TS 1 TEYUl AMTEH & -
(A) Hew Trgo (B) = fareqor
(C) T3 AT (D) feres fareor

TH e H T o aet 1 & i 7, hedat, fawad, deh wifdaat sedt 8 3R omgd famaa
T A 8 |’ 19 STeTeh o {ShH ohict o fTT a1 & ?

(A) =5 et o feTg (B) HYg =hred % forq

(C) TroR et 6 for (D) 318 HTeA o forw

eyt ved, foww wmft Wy ge, fafay wfenfiaet &1 smee, s, Twes, 9w
SHIISHE GAMT, Sl o S+ T T Steh AT 3ele MiafafRrt srear sivret fasm # forg T
% STeTehi o feTT & 7

(A) & &R (B) 3= WUHH TR
(C) e frem &R (D) TETRreTe™ fre w)
=1 o foTu T HieH o1 gaiay 999 B 8 -

(A) 68 9Ty 3y ot (B) 128 1599 g ai
(C) 18F 21 a9 g &t (D) 2182499 31y

ferdt Treqor & w1 eafl 1 g 1fUe BT S9N § foRE W o B % fov ged st
AR ?

(A) TR TR ™ (B) JATER T

(€) Fgw=R™w (D) e TN
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SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

31. Which of these is not a technique of evaluation ?
(A) Appropriateness (B) Effectiveness
(C) Imitation (D) Practicability

32. Check-list technique is used for evaluation :
(A) results, attendance, participation in games, sports.
(B) interest, attitudes and values of the students.
(C) of significant event and work performance of the students.
(D) None

33. Which one of these commissions and committees has not made recommendation to
encourage internal assessment through continuous and comprehensive evaluation ?
(A) Hartog Committee (B) Hunter Commission
(C) Mudaliar Commission (D) None

34. Which one of these is not objective of CCE ?
(A) To make the process of teaching and learning a teacher — centred activity.
(B) To make the process of teaching and learning a learner — centred activity.
(C) To help develop cognitive, psychomotor and effective skills.
(D) To make evaluation an integral part of teaching — learning process.

Read the passage and answer the Question Nos. 35 to 39 :

India today presents a very mixed picture of hope and anguish of remarkable advances
and at the same time of inertia; of a new spirit and also the dead hand of the past and of
privileges; of an overall and growing unity and many disruptive tendencies. Withal there is
a great vitality and ferment in people’s minds and activities.

It is remarkable thing that a country and people rooted in this remote past, who have shown
so much resistance to change in the past; should now be marching forward rapidly and with
resolute steps.

35. Choose the synonym for the word ‘vitality” :

(A) lethargy (B) torpidity

(C) energy (D) externality
36. Choose the antonym for the word ‘anguish’ :

(A) ecstacy (B) agony

(C) excruciation (D) affliction

37. Choose the correctly spelt word :
(A) Fermantation (B) Presantation
(C) Picturesque (D) Resoluation

38. ‘Adverb’ for the word ‘disruptive’ will be :
(A) disrupt (B) disruptively
(C) disruption (D) disrupter
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Choose one word for ‘a tendency to do nothing or to remain unchanged’ :
(A) anguish (B) disruptive
(C) ferment (D) inertia

Read the passage and answer the Question Nos. 40 to 44 :

The rich can provide their children with all that money can buy : rich food; expensive
clothes, cars and every other imaginable comfort and luxury. But they simply cannot give
them what they need most — parental care and affection on a personal level for which there
is no substitute in the whole world. These children who are brought up almost entirely by
hired attendants develop a twisted personality. Their rich, busy and well-bred parents are
one day shocked to find that their children have developed some of the traits of their own
attendants which are, to say the least, considerable less than well-bred.

......... and every other imaginable comfort and luxury. Here ‘imaginable’ is :

(A) anoun (B) aconjunction

(C) an adjective (D) an adverb

Choose compound adjective from the phrase ‘well-bred parents’.

(A) well-parents (B) well-bred

(C) well (D) bred DF0)|
o

Which one of these phrase has a determiner in it ?

(A) But they simply cannot give.

(B) The rich can provide their children all they need.
(C) There is no substitute.

(D) Hired attendants develop twisted personality.

‘These children who are brought up almost entirely by hired attendants develop a twisted

personality.’

Which tense is used in the above sentence ?

(A) Present perfect (B) Present continuous
(C) Present indefinite (D) Past indefinite

Which of the following has the three degrees of the adjective in their correct form ?
(A) Simple, more simple, most simple (B) Rich, more rich, most rich
(C) Little, less, least (D) Expensive, expensiver, expensivest

Choose the correct interrogative sentence :
(A) Had been it raining for long ? (B) What been it had raining for long ?
(C) How had been it raining for long ? (D) Had it been raining for long ?

Choose the correct option to fill the blank in the sentence given below :

Admittance to him by the guard.
(A) were refused (B) was refused
(C) are refused (D) will be refuse

‘So help me, Heaven !” he cried, ‘I will never steal again.’

Choose the correct indirect speech of the above sentence :

(A) He called upon Heaven that I would never steal again.

(B) He called upon Heaven to witness his resolve never to steal again.
(C) He called upon Heaven to never steal again.

(D) He called upon Heaven to witness his resolve not to never steal again.

Choose the ‘Affricate’ sounds :

(A) [t ds| (B) |m,n
©) [fv] (D) 16,0]
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Phonetic symbol / transcription for the word ‘Guttation’ is :
(A) | ga'tof(o)n | (B) | ga'terf(o)n |
(C) | ga'ttes(o)n | (D) | ga'ttars(o)n |

The fundamental order of listening, speaking, reading and writing should be followed; it is
the general characteristic of :

(A) Principles of selection (B) Principles of gradation
(C) Principles of habit formation (D) Follow the natural way
‘Leading from simple to complex’ is used in the principles of :

(A) Gradation (B) Habit formation

(C) Controlled vocabulary (D) Follow the natural way

Which one of these is a principle of ‘Translation cum Grammar’ method ?

(A) To teach English directly.

(B) To establish bond or a link between thought, expression, experience and language.
(C) The unit of teaching is a word not the sentences.

(D) The sentence is the unit of teaching in this method.

Which method is a midway between the two old methods; (Translation cum Grammar
method and the Direct method) ?

(A) Inductive — Deductive method (B) Bilingual method

(C) Dr. Michael West’s new method (D) Audio Lingual method

Which one of these is related to the ‘Inductive — Deductive method’ of teaching English ?
(A) Itis aslow procedure.

(B) This method discourages the students to be mentally active.
(C) Priority of reading.

(D) The sentence is the unit of teaching in this method.

EEE
4]

Which skill is the basis of good learning of the language ?

(A) Speaking skill (B) Explaining skill

(C) Reinforcement skill (D) Listening skill

Choose the correct option which is not a technique for speaking skills :

(A) Reproduction (B) Question — Answers

(C) Role play (D) Model Reading

According to Thompson and Wyatt, how many objectives are of teaching rapid reading ?
(A) Three (B) Four

(C) Five (D) Six

Who was of the opinion that reading ability can be developed by reading books in solitude
with ease, interest and pleasure ?

(A) Menon and Palet (B) Robert Lado
(C) Rajgopalan (D) West

Oral reading is also known as :

(A) Intensive reading (B) Silent reading
(C) Loud reading (D) Library reading

Checklist, Rating scale, Interview schedule and Anecdotal records are tools for :
(A) Summative Assessment (B) Informative Assessment
(C) Annual Assessment (D) Formative Assessment
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There are 30 questions in all in this Section.
All questions are compulsory.

Evaluation is done on two basics
(A) cumulative (B) terminal
(C) sessional (D) formative and summative

The comprehensive evaluation involves

(A) assessment of answer books.

(B) performance in co-curricular activities.

(C) assessment of health habits, work habits, cleanliness and co-operation.
(D) All of the above

‘Class magazines’ is an example of
(A) assignment (B) project work
(C) writing test (D) speech test

One of the objectives of the remedial work is to

(A) highlight weak students.

(B) identify the cases who are lack in studies.

(C) spot the weak and punish them.

(D) make the weak students aware of their backwardness.

Remedial teacher should keep a liasoning with the parents to
(A) ensure the weakness of their child.

(B) help in identifying the cause behind child’s lagging.
(C) work in same environment.

(D) rebuke the students.

(Prose passage Q. Nos. 66-70)

Almost the whole village stopped to watch the big boat being built at sometime or the other.
No one owned such a large boat or even worked on one. Perhaps they were jealous and that
was why no one had a good word for it. They did not want to believe, it would do well at
sea. But, they, in a way, were proud too. Building a big boat like this in their village was an
achievement.

Do you like to eat a pizza ? Do you prefer a hamburger ? The two questions can be combined
using

(A) and (B) or

(C) but (D) that

I am sure. It is true. The two sentences can be combined using
(A) so (B) than
(C) but (D) that
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Many a man done this.

(A) is (B) has

(C) was (D) were

Gold and silver precious metals.

(A) is (B) has

(C) have (D) are

e no one had a word for it’ ......... The underlined word in the line from the passage
stands for

(A) the boat (B) the people

(C) sea (D) achievement

(Poem Passage Q. Nos. 71-75)

‘Weavers weaving at break of day,

Why do you weave a garment so gay ? E%Ei
Blue as the wings of a halcyon wild, =
We weave the robes of a new-born child.’

‘Blue as the wings of a halcyon wild.” The figure of speech used in the extract is

(A) alliteration (B) simile

(C) metaphor (D) assonance

The rhyme scheme in the stanza is

(A) aabb (B) bbaa

(C) abab (D) abba

The plot of a story may be

(A) comic (B) tragic

(C) satiric (D) all

Dravid was the wall of our cricket team.

(A) Simile (B) Metaphor

(C) Personification (D) Rhyme

Inanimate objects and abstract notions are spoken of as having life and intelligence in
(A) metaphor (B) simile

(C) personification (D) plot

You be ashamed of yourself having made such a comment.
(A) may (B) should

(C) can (D) could

He chased the thief as far as he .

(A) may (B) should

(C) can (D) could

The car seemed to have
(A) beat the bush (B) tried to pin
(C) vanished into thin air (D) boarded the wrong train
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‘Drama’ originated in
(A) Greece (B) Rome
(C) Italy (D) England
An ‘octave’ is a stanza with lines.
(A) 6 (B) 14
) 12 (D) 8
The twenty-six letters of alphabet have  sound symbols.
(A) 20 (B) 24
(C) 44 (D) 45
The phonetic symbol of the underlined letter in the word ‘thin’ is
(A) o B) o
©) 3 D) ds

. L . [ E
The phonetic transcription of ‘lung’ is FE%
(A) /lan/ (B) /long/
(C) /long/ (D) /lexm/
The word having the sound of ‘ed’ is
(A) pear (B) hire
(C) moor (D) roar
‘h’isa sound.
(A) voiceless (B) voiced
(C) palatal (D) velar
‘Expression should be impressive’ is an imperative of
(A) Accuracy and correctness (B) Naturalness
(C) Measurement (D) Evaluation
‘Freedom on part of the speaker is essential’ ......... is a rationale of
(A) Direct method (B) Structural approach
(C) Communicative approach (D) Substitution approach

is an advantage of communicative approach.

(A) Listening (B) Speech ability
(C) Writing (D) Reading habits
Language has

(A) script (B) gesture

(C) feeling (D) sound

If a Bengali family lives in Delhi, the children in the family will learn
from environment.

(A) Bengali, English (B) Bengali, Hindi
(C) Hindi, English (D) Hindi, Sanskrit

in family and
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(B) oML [RuatsHi dUBLd- [Astiq- sirt €lg, o3l 6.
(C) e [ueasHl HeAlldsiir- st o33l -2l

(D)  crrilRlets [FRizudlgl sl 2 .

HUCUMIAL MLsAYRASL Gl QaLell oy el

(i) Wy (i)  otl=ell 2 Hgo

(i) [A™aarg (iv) oL

(A) (i) (B) (i) i (i)

(C)  (iii) 21 (iv) (D) (iv)

(21ats 2aclis gL [enell Heuls s wgldell 531 s & ¢

(A) [A=lal (B) 3Aslare

(C)  SHHIMES (D) GuRlsd el

AR A ALRUALUOAL

(A) AL U SRl (B) @Ml Ae5201 UL YR,
(C) A AU &I Y, (D) 4]t Qg el HAL S

AR 2ALUE ILUUAL LR WS AL 66 2L 68l orlloL AL :

L 58] A 53l A sl Blsidd G{IBHA o AU dl WL AR AL Hidl d=Ts 20 dull

wold Q. [de ol 2s, ol Feyedl, ol oigirl 21 el drastid 2
ARl (A HI2 SHUA PAEUL B2 61l s 6. DAL AR ARS[AAL AURRA el HePYRMAL HLcll
AR[E 2ABL AP AL €51A.

NN

66. &aisicl GllmeAl Hidl dREs 2AEL SiA U 1A ¢

(A) ¥ (B) U
(C) el (D) AR
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67. 25, [Rysdl, Glell A drrdsiidl ¥l Sl LRI 2ARIovd HI2 SHAUL AEIURL =3, ol Yzl

N

& 9
(A)  [ds ol (B) LAl $™L
(C) 19y (D) gilu

68.  HELYINW UCEHL SALAUHRU &

(A) 85 UHRL (B) didledld
(C) doR™ (D) sHuRY

A2 AU UBLLAL AR UHRALVAL 69 2l 70 oy llod AL :
2l s gl sasui elsil; mm
€9 QUi -e A sHgHHL [AasHl slszl. FE%
Relierd 1), 52 Bl o UL URGUM B,
sldR © slef arAldl HesHl alsL.

69.  Els3L eI SAL AU T HUS ¢
(A) &l BasHl (B) WRl2AlHl asul
(C) &edlAl-l sl (D) 2RIl BEsHL

70.  “uReUH’ 2os (€L el

(A) Ylecl (B) illct
(C) duslevt (D) sl (@1 il

71, SRl s, drq, 22U, (A A GUAAL AHA 3 S¢aL ¢
(A) sl (B) U™
(C) (Al (D) Bulaamel

72, Gldll ALl sl Al sl Bufdame 536 9
(A) Gdlad (B) ilodl
(C) ™sdll (D) -l

73, SR 50151 AMIA ARL ALSAHL AEASIRAL USIR LUl
(A) 34s (B) Guul
(C) Gcall (D) <ldzs
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74.

75.

76.

77.

78.

79.

80.

81.

82.

(63)

GLMIHL O ALzl A6l ASel SIH 53cll e L S8l
(A) (Al (B) <
(C) UAlors (D) AdA
AL MR FAmRSI0 s 2ALOAL

(A)  $Us AR, (B)  HERLY do¥DIAL SR ELEL o= AL
(C)  WLERL HEIRIYA HUAL o8l (D) ¥ U QURL 53 sl

EURQL- SHL GHBLAL GLLNLS IR AULUR 526, ACEFSLOL S 6 7

(A) 5000 21061 (B) 3000 21061

(C) 2000 210€L (D) 1000 2106l

oy Al s GeRd U s [ABAS 01 €1l 53, s s8I, ¢ =
(A) g s (B) A4yl s

(C) dge sy (D) F3ast

“§ olLNSL WA Rl EIRIASIARL AlsURAUAL SUL USRAL 6 ¢
(A) s (B) b URs
(C) sdR (D) sHL

il (el (s361) AL [detlsd Uea oveudl.

(A) ALl A, A (B) ML, 2l
(C) <, w2 (D) al, =
‘e L0l ASL Y. ASAHL AL A ALAL
(A) s4 (B) slull
(€) sl (D) &
‘gl 8L 1R’ — UMl 8¢ (A & ¢

A) [l (B) "l

(C) U™l (D) 8l

gL HOL 23U ISIRIPLEL OB $UL UOEL SSAUA &
(A)  dcdH (B) d&6id
(C) &L (D) uMidl
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86.

87.

88.

89.

90.
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‘elzel’ 210€ 58 Uil 2Adel © ¢
(A) sl (B) 2w
(C) 2ol (D) il

(QenlfoAil dstFs 241 [Asuiaal Hi2 56 2aiBls weld 2o Gyl oi-ll b & ¢
(A) AR wgld (B) oyl ugld
(€) ARAR wgld (D) del ugld

ARl 53 Hsd A2l Bersrel 2l ¢

(A) eAyrds (B) 2lvssial

(C) etz (D) sty [
e

LUsHL Alzs, WA, didlsud vl ueAeARis UGl sl sl snddl wgkeil

-~

& ¢
(A)  3delslley (B) s 5laed
(C) i Sl (D) @vi- slaed

Hedis sl ulba s ¢
(A)  UROLUBULS. (B) sBAubus.
(C) el ubas. (D) sryrdsaal uEa e.

(Rotvitcns WAL HALEL §R SRl HI2 Bell USIRAL WAL R24AL SIAUHL UL 6 ¢

(A) gsluzl (B)  i-lcHezdl usll
(C)  2AldegTRicHs Ul (D) ds(eus usll

AR 58 51121 [Riats R 5112 21l ¢
(A) i Helis (B) isH HeulsA
(C) uRlaw sl (D) offs s:2l

AL EHA AU (AL ALARRARL oL
(A) 585124 OURIERIA sl (B)  ¢lRRAL 2 R8sl 2L
(C)  dlslle] ol=IREL 4 G (D) GuRlsd otul
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SECTION-1V / @Ug - IV

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either IV(a) Mathematics and Science OR IV(b) Social
Studies as selected in the Online Application Form and answer all the 60 questions.

39 QU T 9 3uWUg 31T 1V (a) nfvra aen famm wa 1V (b) |mifeier steg@m & | gFi 3T@vel &
TS | 60 Sgfashedia I # |

wdeneff i IV (a) niftra aen o s1eran IV (b) amnfres stearaq, fSeht 93m AT 3Tae - §
foran 2, 1 & forell weh SuwUS I T 2 T E¥t 60 Tl T ITGATR |

=
SECTION-IV(a) / U — [V(a) =

MATHEMATICS AND SCIENCE / 7fota qen fasm

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

TGS A B 60 T3 7 | Fo sreaffat 3 g fowar o1 == fopa 2 32 f) wem e arfemi 2

91. Main objective of Geometry teaching is :
(A) To teach the use and measurement of mathematical tools.
(B) To develop creative imagination in student.
(C) To develop the power of object transmission in the student.
(D) All of these

(A) TIIOTET IUHTUT o TN T HIYH T T HTAT |
(B) BT H THTHS heuT Ik T TerehTd T |
(C) BT § a%] JN9T I1ferd bl forehT™l AT |

(D) A et

92. “Child is able to Recall definition of Rectangle.” This statement shows which learning
objective ?

(A) Understanding (B) Analysis

(C) Knowledge (D) Evaluation

“FTeTeh 37T oh! THATHT T TATERT L FohiTl |7 I8 HYF i § TAH I3 &l Tehia
HIAE ?

(A) Iy (B) Tergersm

(C) W (D) HeATh



93.

94.

9s.

96.

(66) PL-2

A child is able to construct a triangle on the basis of given measurement. Which main
objective fulfill through this activity ?

(A) Receiving (B) Responding

(C) Valuing (D) Skill

Teh STcTeh QU T AT o SR R Teh FIYST 3hT ToFT L UTAT & | STeteh shi 39 Tidfafer gro fera
T 394 o1 Ifd BIdi 8 7

(A) &9 (B) IR

(©) T (D) hieret

Children with strong intellect do not have qualities :
(A) They are more curious.
(B) Their area of interest are broader.

(C) They are emotionally unstable. o
(D) The knowledge of reasoning is visible from young age. FE%
TG §f.g aTet ATeTehi H I 0T T8l 8l & —

(A) ¥t g aa € |

(B) Tehl &1 T &1 =TI BT § |

(C) 3 TcTeh HaTTIcH Y | SRS & # |

(D) 3Tca & &I b iRt T T gfecM=R BT R |

If3678) =27+ 1) then the value of x is :

(A) 0 B) 1
€ 2 (D) 3
I 30+ =27+ DF A x HIAF R :

(A) 0 B) 1
€ 2 (D) 3

1 1
If x +y =7 and x> + y? = 25, then the value of(;Jr;) is :

12 7

(A) = B) 33
7 1

© 15 ® 70

A x +y=73N2+y =25@,?ﬁ&+3wm’«r%:
12 7

(A) = B) 33
7 1

© 15 ® 70
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97. A factor of the expression x> —2x + 1 is :

(A) x-1 B) x+1
C) x+2 D) x-2
Sh x3 — 2x + 1 1 Teh UHETE ¢ :
(A) x—1 B) x+1
) x+2 D) x-2
. : 2 2 .
98.  The solution of the equation 37— + 5 =01s:
A) 0 (B) 1
© 3 (D) 2
E““a;wl3x2—4+2x2—6=0w8a%: ?%
=
(A) 0 B) 1
©) 3 (D) 2
3
99. %ﬂ/% x%/ﬁisequalto:
7

(A) 7 B)

4 1
© 7 D) 7
8 [100 ‘
T Tgxﬁwé‘

7

(A) 7 B)

4 1
© 7 D) 7

. : 3 o
100. The simple interest on a sum of money for 5 years becomes 3 of the principal, then the

rate of simple interest will be :
(A) 10% (B) 8%
©) 12% (D) 14%

%@wﬁwsaﬁwm&wmwmaﬂ% Bl ST 7, T TR0 &1 <hl g gt

(A) 10% (B) 8%
©) 12% (D) 14%
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102.

103.

104.
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If the loss caused by selling an article for ¥ 560 is ¥ 50 more than the profit made by
selling it for I 720, then the cost price of the article is :
(A) R 665 (B) Ro6l5
(C) 600 (D) %620
e forsf &g 1 T 560 H o= | g3 81, T 720 H o= | 5T W & T 50 31k &, O a%g 1
s Yo % :
(A) R 665 (B) Ro6l5
(C) 600 (D) %620

If the cost of 5 bananas and 4 apples is equal to the cost of 3 bananas and 7 apples, then
the ratio of the prices of a banana and an apple will be :

(A) 1:4 (B) 3:2 EE
(C) 4:3 D) 3:5 ?E%
Ff¢ 5 el qUT 4 T 1 Jod 3 el qUT 7 Wl h o o SR &I, A1 Teh el qUT Teh 6
et T ST BT :

(A) 1:4 (B) 3:2

(C) 4:3 D) 3:5

If 75 is added to 75% of a number, the same number is obtained, then that number is :

(A) 300 (B) 270
(C) 250 (D) 225
e forelt T&T o 75% | 75 SIS I8! T U &l S, 1 98 HE&A1 & -
(A) 300 (B) 270
(©) 250 (D) 225

The present population of a village is 1,30,910. If in the previous years there is an increase
of 6%, a decrease of 5%, an increase of 4% respectively, then the population of 3 years
ago was

(A) 1,30,000 (B) 1,10,000
(C) 1,25,000 (D) 1,15,000
T a3 A ST 1,30,910 7 | Afe 70 N H FEA: 6% 1 G, 5% 1 HHT, 4%
(A) 1,30,000 (B) 1,10,000
(C) 1,25,000 (D) 1,15,000
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105. In the given figure, the lines XY and MN intersect at point O. If ZPOY = 90° and
a:b=2:3, then the value of Zc will be :

1P
M
a
b
— 3 —
C
N =

(A) 90° (B) 126°
(C) 144° (D) 150°

fo T fomt 1 @ XY 91 MN feig O W wfd=ssg shadt @ | 3 £POY = 90° 3R a:b=2:3
B, a1 Lc T 0 & -

{p
M
d
b
— 3 s
C
N
(A) 90° (B) 126°
(C) 144° (D) 150°

106. If all the three sides of one triangle are equal to the corresponding three sides of another
triangle, then the two triangles are :

(A) Perpendicular (B) Congruent

(C) Parallel (D) None of these

i s et o1 A o, R g o A i S5 R A, 1 2 g B
(A) = (B) efmam

(C) @HIR (D) T8 ¥ IS Tl
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108.

109.

110.

111.
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The length of a chord at a distance of 6 cm from the center of a circle of radius 10 cm is :
(A) 12cem (B) 14cm
(C) 18cm (D) 16cm
10 GTHfiet Forsa aTet 9 o oheg § 6 HreiHiet gt W ferd Sfia shl erg 2 -
(A) 129 (B) 143
(C) 189 (D) 16Tt
If the perimeter of an equilateral triangle is 48 cm, then its area will be :
(A) 643 cm? (B) 554/2 cm? %
(C) 324/3 cm? (D) None of these =
e foret TwaTg PV o1 ITHTT 48 T B, 1 3T &A%ha BT :
(A) 6443 =t qeft (B) 55+/2 =t
(C) 3243 ot &t (D) TTH § 1S &I

If the lengths of the diagonals of a rhombus are 10 cm and 24 cm, then its perimeter will
be :

(A) 34cm (B) 68 cm
(C) 52cm (D) 56 cm
¢ T THAHS o Torshult <hl TaTgaT 10 At 31K 24 At 71, T 3Heh1 TR ghm -
(A) 34T (B) 68 G
(C) 52t (D) 569t

A room is 12 metres long, 9 metres wide and 8 metres high. What is the longest rod that
can be placed in it ?

(A) 29 metre (B) 17 metre

(C) 15 metre (D) 21 metre

Teh AU 12 Wi @, 9 Hiet =gt aut 8 HiX S 2 | 30 ot § ! forat ol v Tt o
THhdl 8 7

(A) 29 HX (B) 174X

(C) 15X (D) 21HX

The main objective of tabulation is :

(A) Presenting the data on the basis of their characteristics.
(B) Presenting the data in a systematic manner.

(C) Presenting complex facts in simple form.

(D) All of these

HROf 1 &7 3639 & -

(A) THhI I 3Teh! TrRITATS o TR T T T |
(B) HYhI ! shUSG AT €9 H T T |

(C) SIfee a2l ol T &9 § T AT |
(D) A |eft
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114.

115.

116.

(71)

The mode value of a series is :

(A) Intermediate value (B) Most frequency value

(C) Minimum frequency value (D) Marginal value

fereft 2roft =61 S5 qea BT & -

(A) HeIad! god (B) Halfueh STFERAT qod
(C) I ST Hod (D) €= g
The coordinates of a point on the X-axis are :
A) (2,3) B) (0,2)
© 2,0 o O 4D
X381 o feurd fereg o f1dammeh ¢ -
A) (2,3) B) (0,2)
© (2,0 D) (1, 1)
The probability of having 53 Tuesdays in an ordinary year is :
1 2
A) 5 B) 7
3 4
© 7 D) 7
TS TR0 I | 53 TITdR 8§ <hl STk & :
1 2
(A) 7 B) 7
3 4
© 7 D) 7

Which of the following is a teaching aid of Mathematics ?

(A) Napier strips (B) Logarithmic table
(C) Geometry box (D) All of these

=1 o | 7Tfora fegor <hi wETeres AT R -

(A) e afgar (B) E[TOTh HTOf
(C) STtufd aieg (D) Ioft

Which of the following Mathematical statement is true ?
(A) Evaluation = Measurement + Judgement
(B) Evaluation = Measurement — Judgement
(C) Evaluation = Judgement — Measurement
(D) Evaluation = Measurement + Judgement

fedesr e s g g ?

(A) WA =HT9H + o (B) HeATeh = {19 — fAuf
(C) e = fur — AT (D) HedTehd = A9 =+ o
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117.

118.

119.

120.

(72) PL-2

Which of the following is not an Indian Mathematician ?

(A) Ramanujan (B) Brahmagupta
(C) Aryabhatta (D) Pythagoras
71 o 9 o W TiTas T8 @ 7

(A) THHSH (B) s«

(C) amivg (D) wTETiRE

Which of the following is not the type of cognitive objective in Mathematics teaching ?

(A) Knowledge (B) Understand

(C) Skills (D) Application EiE
e ferfa & i a1 e R & ST S 1w ST 7 5T
(A) FH (B) Fadly

(C) e (D) 3TgsrmT

Which of the following is not a method of Evaluation of teaching Mathematics ?
(A) Supervision

(B) Interview

(C) Teaching model created by student

(D) Dictation

e 3 & b o e Rueon 3 e o1 ot T R ¢

A) T (B) HIRATHR

(C) BHEigmisAT g afegdr (D) Hfier@

Mathematical statement whose truth has been proved is called :

(A) Theorem (B) Axiom

(C) Conjecture (D) Postulates
e e fraeht Terar firg s TS B, hEemar
(A) (B) sffed

(C) Heierrt (D) 3Tfremom
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122.

123.

124.

125.

(73)
Example of sexually transmitted disease is —
(A) T.B. (B) Cancer
(C) Gonorrhoea (D) Pneumonia
I i T BT IeTeTu & —
(A) A (B)
(C) T (D) =g
The example of Kharif crop is —
(A) Gram (B) Pea
(C) Maize (D) Linseed
BT 3l HEE T I & —
(A) =1 (B) #AX
(C) R (D) Tl F%
=
Which of the following is the oldest teaching method ?
(A) Reminiscences method (B) Evaluation method
(C) Projective method (D) Anecdote method
fforfiga @ @ S =t ged g fremor fafa 2 2
(A) wfer farfer (B) vk fafe
(C) w&ur fafeyr (D) g fafyr

Meaning of comprehensive evaluation in continuous and comprehensive evaluation —
(A) Evaluation of educational field

(B) Evaluation of co-educational field

(C) Evaluation of educational and co-educational field

(D) Evaluation of all subjects

TAd e SATIh YoToh H STdeh HedTeh b1 dTedd & —

(A) fereh &= 1 oA

(B) Ug-3feTeh & 1 Yodih

(C) feres Ta Tg-iferh &= 1 Yoo

(D) &t Torwii =1 Heameha

Which teaching aids are not included in the visual equipment ?

(A) Projector (B) Film strip

(C) Poster (D) Gramophone

% = e -agmes arfl gr-3uhtn | gitiferd T8 & ?
(A) TREX (B) frem g

(C) T (D) TTHHE
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126.

127.

128.

129.
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A force F is acting on area A. If the force is double and the area is halved, the resultant
pressure will be of the initial pressure :

(A) half (B) double

(C) one-fourth (D) four times

T 9 F fohet &9 A T @1 R | A I I QAT a1 & B A R €, qf aRon g
TRIRT ST <1 &1

(A) 3t (B) NS
(C) TH-TUTE (D) =TT

A wooden spoon is dipped in a cup of ice-cream. Its other end
(A) becomes cold by the process of convection.

(B) becomes cold by the process of radiation.

(C) becomes cold by the process of conduction. EHE
(D) does not become cold. Eﬁ'ﬁ

ThE! hl Teh T i STTSHShIT o Te! H GEAT ST @ | $8ehT gal B
(A) g IfshaT 3 ST 3T & S |

(B) farfertor ufshan & ot Se1 & s |

(C) <ITeT UshaT % Il ST &l S |

(D) JeIE & |

Image formed by a plane mirror is :

(A) wvirtual, behind the mirror and enlarged.

(B) virtual, behind the mirror and of the same size as the object.
(C) real, at the surface of the mirror and enlarged.

(D) real, behind the mirror and of the same size as the object.

THA QU R ST TR Sdfee B @

(A) 3T, gl & He e At

(B) 3T, guur o fi® qut foe o |1Es o s
(C) dSTfesh, €U o I63 TR AT SATaed

(D) drifereh, UUT o e dT foid o A8 & St

The limit of audibility for healthy human is :

(A) 10 Hz to 20000 Hz (B) 10 Hz to 2000 Hz
(C) 20 Hz to 20000 Hz (D) 20 Hz to 200000 Hz
e WS o ToTu e S Bl 2

(A) 10 Hz® 20000 Hz (B) 10 Hz ¥ 2000 Hz

(C) 20 Hz ¥ 20000 Hz (D) 20 Hz ¥ 200000 Hz
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130.

131.

132.

133.

(75)
Full name of LED is :
(A) Light Emitting Doll (B) Light Emitting Dynamo
(C) Light Emitting Drum (D) Light Emitting Diode
LED &1 90 9 81 &
(A) RIS IcESTh BIA (B) oIS 3cHSish ST
(C) YIS 3cdsieh g (D) I 3cHSTeh SIS

Electric-cell converts

(A) mechanical energy into electric energy.
(B) electric energy into mechanical energy.
(C) chemical energy into electric energy. Elﬁ

(D) electric energy into sound energy. =

Torga-ge iafda s 2
(A) i oAt bl feeg@ ot & (B)  foregd ot ot ek Soott |
(C) TEERes ol bl faga St § (D) forega St ol wafy St 8

Order of planets according to distance from the Sun is :
(A) Mercury, Venus, Mars, Earth
(B) Venus, Mercury, Earth, Mars
(C) Mercury, Venus, Earth, Mars
(D) Mercury, Earth, Venus, Mars

T € gl o STER T8I HIHA R :
(A) 99, Ik, HTeA, GeAl (B) ¥k, g4, Y, AT
(C) 94, Ik, Y1, w1 (D) g4, 9%H, sk, ATTA

Which of the following is not a criteria of a good test ?

(A) Reliability (B) Validity

(C) Objectivity (D) Subjectivity
FrefeTiad § | SF |1 T 37 W& o1 HIIGS T8l & ?
NIRELELEIRK (B) dEan

(C) aEqfsaal (D) AT
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135.

136.

137.

138.

139.

140.
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The process used in the separation of rice from paddy stalks is —
(A) Hand picking (B) Threshing
© Winnow@ng ' (D) _Sieving
et <h! FET SFEAT | TATae o JHFRTI H TR ThH & -
(A) T& =IH (B) 9fsm
(C) fasarem (D) <A
One of the steps used in the process of formation of common salt from sea-water is —
(A) Distillation (B) Condensation
(C) Vaporisation (D) Filtration
LY STt o TR THh S o Tehd H TR T U & -
(A) IEaH (B) o
(C) daTS9A (D) fi=rem

The chemical substance present in calamine solution that is applied on the skin to
neutralise the effect of ant bite is —

(A) Calcium carbonate (B) Zinc carbonate

(C) Sodium carbonate (D) Sodium hydroxide

=it o HTeA & TUTE i IS H o AT, =G T/ A T 9T hoid1sd oo d 3uferd
T e § -

(A) Hfcwm HEHe (B) TSt wmEie

(C) wfesm wERe (D) Hifeaw ersgiTse

The oxide responsible for acid-rain is —

(A) H,0O (B) CO

(C) SO, (D) CO,

ITA-NT o foTT IRl raTEs ? - B4
(A) H,0 (B) CO E!%’i
(©) SO, (D) CO,

The pair of thermosetting plastic is —

(A) Polythene, PVC (B) Polythene, Melamine

©) Bakelite, PVC (D) Bakelite, Melamine

qHTGTET TATTESe T JH & -

(A) difaef, Fefi (B) uifcrefH, dermrs

(C) Seharrge, Hieteh (D) ShalTse, HATHTS

The fuel with highest calorific value in kJ/kg unit is —

(A) CNG (B) LPG

(C) Petrol (D) Hydrogen

kJ/kg ToTS T Hartfersh ot Wi STl S99 8 -

(A) Hies (B) TeiSA

(C) T (D) BTG

The type of teaching aid involved in experiment done by a student in laboratory is —
(A) Audio aid (B) Visual aid

(C) Audio-visual aid (D)  Activity aid

e feremeff grr s # e foRd S H fafea frerr s s weR g -

(A) FFHEIYd (B) RIEYq

(C) HA-3 Ao (D) TspaTedes |Teq
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141. In which group the unicellular, Eukaryotic organisms are included ?

(A) Monera (B) Protista
(C) Fungi (D) Plantae
o T U ISR, T ST e o o # 7
(A) = (B) wifew
(C) =g (D) A=

142. After fertilization, a mature and developed ovary is known as —

(A) Seed (B) Endosperm

(C) Fruit (D) Embryo
= o T9ETd, Ueh foehfid o Uiiaee STUST i had & —
(A) (B) ToEr

(©) »d (D) ¥

143. Which one is not necessary for photosynthesis ?

(A) Sunlight (B) Carbon dioxide
(C) Chlorophyll (D) Oxygen
TeRTSTHCTNYT < foTT T STTawee T8 & ?

(A) FdBTIHRT (B) hTsH ETEIATHTES
(C) FARIfhA (D) 3HTefS=

144. During respiration in plants the breakdown of glucose to Pyruvic acid is called —

(A) Kreb’s cycle (B) Calvin cycle
(C) Glycolysis (D) Fermentation
G H Y8 o G To[ehISt ol UTSEIah 3T H forered shaatrdl & —
(A) hed sk (B) hfead =k
(C) TATSHIAITE (D) TervaH
145. Who first described Golgi apparatus ?
(A) Robert Hooke (B) Robert Brown
(C) Camilio Golgi (D) Leeuwenhoek
FEYH Test! TR0 <l foher afvfa femam ?
(A) T TH (B) T&E Sm3A

(C) HHiel Ticait (D) TIoHEIh
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Which bacterium causes ‘Whooping Cough’ disease in human ?
(A) Bordetella pertussis (B) Corynebacterium diphtheriae
(C) Mycobacterium leprae (D) Neisseria gonorrhoeae
D T e & JHe H wielt @i T AT ¢
(A) SREIC wed (B) whiiHseiiad feweidiam

(C) WTShISFITEH AT (D) i TR

Which type of sweat glands are present in human skin ?

(A) Apocrine (B) Holocrine
(C) Eccrine (D) All of these
T = 8§ T TR i & JehR shl &1t 8 7

(A) T (B) I
(C) Tshrsd (D) It

Disease caused by deficiency of Vitamin-D (Calciferol) is :

(A) Night-blindness (B) Beri-Beri
(C) Scurvy (D) Rickets
Torerm-<1 (pfeaftier) i =i @ 8 e U 8
(A) Tt (B) SO-sf
(C) el (D) FeheH

In which animal asexual reproduction occurs by budding ?

(A) Amoeba (B) Hydra

(C) Plasmodium (D) Leishmania
I T 1ft § Gepotd gRI 3TATTeh S BIaT 8 7

(A) 3HiaT (B) =R

(C) wArsHIfEH (D) et

Which hormone controls maturation of egg in ovary ?

(A) FSH (B) TSH

(C) ADH (D) GH

SIF A1 g ST § 37SIV] o qiuesH i Ffa s g ?
(A) FSH (B) TSH

(C) ADH (D) GH

PL-2
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SECTION-IV(b) / ©UE — IV(b)

SOCIAL STUDIES / QTHIS 3T

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions.

1 @Ug H 3o 60 WA & | N 1Rt 4 3w fawy o1 9w foren 2 3% aeft e e st 2

91. Which of the following is a correct statement with reference to latitude and longitude
respectively ?
(A) 87° North to 197° East (B) 56° North to 91° South
(C) 101° East to 192° West (D) 23° North to 66° East
FrfaRad o & e ST&TST 9 R o 9%eY § Hel STefad &

(A) 87°3IWH 197°qd (B) 56° I H 91° gfaor
(C) 101° 99 & 192° 4fyem (D) 23° IR 66° I8
e

92. Equinox is related to - Eﬁf

(A) 21 March (B) 29 February

(C) 22 December (D) 21 June

(A) 219=H (B) 29w W

(C) 22 feamsm @ (D) 215 ¥
93. Which range is located in the north-west direction of the Peninsular Plateau ?

(A) Vindhyachal (B) Satpura

(C) Aravalli (D) Eastern Ghats

It Tt TG TSR % IR-ufvay fem A e 7 ¢

(A) faema (B) @ageT

(C) IEet (D) gdf=me

94. Which of the following is related to endogenic forces ?
(A) Wind, Glaciers, Volcano
(B) Volcano, Landslides, Earthquake
(C) Earthquake, Landslides, River
(D) Glaciers, Sea-waves, River

FfTiad o & o |1 JTasd Sl § Jrid & ?

(A) e, feree, STt (B) AT, EEeH, Yohtd
(C) VM, EEeH, et (D) T&HHe, JHgl-auT, 8
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96.

97.

98.
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In 1947, he was then Director General of the Archaeological Survey of India.
(A) Alexander Cunningham (B) R.C. Banerjee

(C) R.E.M. Wheeler (D) Sir Jhon Marshal
1947 § WA U G810 o qehleie SRR - o
(A) ITTEISt ey (B) AR, sa(f

(C) 3TR.3.WH. iR (D) T A AR

Which Satavahana ruler claimed to be both, a unique Brahmana (eka bamhana) and a
destroyer of the pride of Kshatriyas ?

(A) Satakarni- I (B) Shiv Skanda Satakarni
(C) Simuka (D) Gautamiputra Sri — Satakarni

fore |TaTEA YT A T I TSI R (Teh STEHAT) T &E-T o €4 Wl & i are
qrT ?
(A) SITAhU-gUm (B) f3ra g smraehuff

(C) fam= (D) TiraHiga oft-smaepuft

At which place in Gujarat were the teachings of Lord Mahavira and his followers
presently available were written down about 1500 years ago ?

[E]:0 ]
(A) Valabhi (B) Lothal ELY
(C) Rangpur (D) Bharuch
AU €Y T IUAeY P TR T 3eh SRR b1 freard e 1500 a9 qd Torrd §
Torer T W forelt 18 off ¢
(A) Tooreft (B) <Ny
(€) TR (D) W=

Which ‘Tripitaka’ tells us that there were separate branches for men and women in
‘Sangha’ ?

(A) Abhidhamma Pitaka (B) Sutta Pitaka

(C) Vinaya Pitaka (D) None of these

T | TN 37 Rl o 1@ <t 31— 31em seeen off, I g fohw Biftes o udt eran 2 ¢
(A) IAEH fueh (B) Hd fuesh

(C) o fess (D) T YIS T

Which rivers contributed significantly to Magadha’s transportation, water supplies and
making the land fertile ?

(A) Godavari — Tungabhadra (B) Ganga— Son

(C) Chambal — Mabhi (D) Krishna — Kaveri
SHIA Y AT = 7 o AT, el - forawT v SHA 1 3T, S § Ugqul AT fea ¢
(A) TeTadl — g (B) TR —&H

(C) <9et —TTEl (D) TS — el
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Most of the Ashoka’s inscriptions have been found in -
(A) Prakrit Language and Brahmi Script

(B) Pali Language and Devnagari Script

(C) Sanskrit Language and Brahmi Script

(D) Punjabi Language and Gurumukhi Script

373k o SATerRTST 3Tfirerg IR T & -
(A) Wrha W SR s fafy (B)  wfor v 3Tk <eATH fafy
(C) U&ha Wil SRS Al (D) oSt W 37k Teqe fafy

Which land was granted to Brahmanas and was usually exempted from paying land
revenue and other dues to King ?

(A) Agrabhag (B) Agrahara

(C) Agradaan (D) Bhumi-dan

T I AT Y- AT ST STEIV 3l G TG ST o7 AT 379 {HeRL 9 371 TN o L TSI GRT
&l A I Y 7

(A) 3TTHM (B) 3UER :@ﬁ

(C) M (D) fH-<H =

In which language was the “Prayaga — Prashasti” composed by Harishena, the court poet
of Samudragupta ?

(A) Prakrit (B) Hindi

(C) Pali (D) Sanskrit

TR -JTTE” < T TSI o TTehidl g A fohg oo & <6t oft 7
(A) Fd B) &=

(C) e (D) HeFd

The Shunga dynasty was founded by which General of the Mauryas ?
(A) Pushyamitra Shunga (B) Agnimitra Shunga

(C) Vasumitra Shunga (D) Devbhuti Shunga

3 1 T T R He ST gy 6 oft 7

(A) Al g (B) 3t 3

(C) wgfer g (D) erfer 3

Choose the Kanishka’s court poet who composed a biography of the Buddha, the
‘Buddhacharita’.

(A) Saundranand (B) Ashvaghosha

(C) Shudrak (D) Harshvardhan

TS T TSTehidl g T8 g i Shiat, ‘Fgaita’ ht T i ot |
(A) HieT=g (B) 3Tead™

C) YE&h (D) EYaEq
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Which was an administrative subdivision of a Mughal province ?

(A) Peshkash (B) Jaagir

(C) Milkiyat (D) Pargana

TS T B Teh TRIE{eh JHSe i |1 AT 7

(A) USRI (B) WMR

(C) Tufcwea (D) SUHEI

Which is a Major poetic anthology of Alvar Saints also known as Tamil Ved ?

(A) Tondaradippodi (B) Karaikkal Ammaiyar

(C) Tavram (D) Nalayira Divyaprabandham

TSI |l T Teh Y& 1T Hehald 18 AU dg o €9 T Y ST ST 2

(A) dicufewifs (B) hIEHRIA AN

(C) da™ (D) TARMlCETEET

The Mother of Mughal ruler Jahangir belong to which Rajput dynasty ?

(A) Kachhwaha (B) Rathore

(C) Parmar (D) Chouhan

TS IITeh TR eh HIAT fohd TTYd o9 § Faferd off 7

(A) HeodEl (B) Tdls o
SR

(C) YHI (D) =gH Eﬁf

“A cherry that will drop into our mouth one day.” In 1851 the Governor — General Lord
Dalhousie said this statement about which state ?

(A) Satara (B) Awadh

(C) Jhansi (D) Nagpur

‘Y Hel Teh T AR & g | A1 FIRem 1 1851 B TR SRet ife Setarsht 4 98 e fohm
Tamea < S W et o ?

(A) & (B) 31a4
(C) @& (D) AR

Which day was earmarked for “Direct Action Day” ?
(A) 14 August 1948 (B) 16 August 1947
(C) 14 August 1946 (D) 16 August 1946
Tegeg HaTE fead’ g i a1 feq faffea fomam mom o
(A) 14 377&d, 1948 (B) 16 317T&d, 1947
(C) 14 AT, 1946 (D) 16 3AT&d, 1946

By which Constitutional Amendment the Age of adult suffrage in India was reduced from
21 years to 18 years ?

(A) 59 (B) 61
(C) 63 (D) 71
Tora Afqem e o gRT YRd | 9% TR 6t 311 21 99 & =Rt 18 a9 i Mt 2
(A) 59 (B) 61

(C) 63 (D) 71
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Which feature is not in the “Preamble” of the Constitution of India ?
(A) Secularism (B) Federal Government
(C) Political Justice (D) Equality of Status
T o G 6l Sedra § i & fomivar & 7 7
(A) uY-faaerar (B) TE IITEA
(C) TS = (D) st <t guTar
Who was the Deputy Chairman of the Constituent Assembly in India ?
(A) Dr. Rajendra Prasad (B) K.M. Munshi
(C) A.N. Sinha (D) H.C. Mukharji
WA shl Gfae fmiE 9 s smerg e 3 7
(A) 3. Toig T8 (B) <h.TH. gt
(C) uwud. fama (D) T=LH. gt
“Right to Property” is presently mentioned in which Article of the Constitution of India ?
(A) 224 (A) (B) 290 (A)
(C) 300(A) (D) 312 (A)
“gafdl 1 ATTHR” TAHM H T oh HIILTH o fohd STTose | afvfa g ? Em
(A) 224 (%) (B) 290 (%) ki
(C) 300 () (D) 312(H)

Which Constitutional Amendment was made to provide opportunities for education to the
children of 6 to 14 year of age ?

(A) 74% (B) 81t
(C) 86! (D) 91t
68 14 ¥ 37 o STcTohi o TIETT o STTHL 3T HUA B I TT e Tene femam o ?
(A) 74at (B) 8laf
(C) 86at (D) 91df

Who are included in the electoral college of the Vice-President of India ?
(A) Nominated members of Parliament

(B) Elected members of State Legislative Assemblies

(C) Both (A) and (B)

(D) Nominated members of State Legislative Assemblies

T o STFUTS o fat=reh HUge § i M & 7

(A) THE & T qe= (B) T faamawmadi & faifa ge=
(C) (A) 3R (B)gHl (D) T faam@ma & uia gee

Which Article of the Constitution of India described the Power of the President to
“consult” the Supreme Court of India ?

(A) 143 (B) 147
(©) 140 (D) 145
TR o ITH =ARITeH & THS i <hl TFafa <h wifekt TR o \fge = ford =g d aftfa 7
(A) 143 (B) 147

(©) 140 (D) 145
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In which Part of Constitution of India described the Urban Local government ?

A) 8 B) 9(A)

© 11 (D) 10(A)

A o G % e 9 § wed i smem aftfa 8 2

A) 8 B) 9 ()

(C) 11 (D) 10 (=)

What is the minimum number of Women Members in the National Commission for
Protection of Child Right ?

(A) 2 B) 3

€ 4 D) 5

TE STt TR 0T TR | =y foha1 AfeeT G g1 a2 2

A) 2 B) 3

<€) 4 D) 5

According to Article 74 of the Constitution of India on whose advice does the President act ?
(A) Council of Minister (B) Vice-President

(C) Speaker of Loksabha (D) Governor

T o I % 3T=¢ 74 o dgd Ugld fraehl detrg & s HLar g ?

(A) T f (B) I wm
(C) <haNT A (D) T=IUTA ’Eﬁj

Which of the following is a group of inner planets ?
(A) Mercury, Venus, Earth, Jupiter

(B) Venus, Earth, Mercury, Mars

(C) Earth, Mars, Venus, Jupiter

(D) Earth, Mars, Jupiter, Saturn
freferfiea ® | 19 |1 STT=afeh T8 1 UH THE § ?

(A) 99, 56, gedll, seeafa (B) sk, 9efl, g4, e
(C) ge=ft, WA, X5k, e (D) YR, WA, gEld, AH

Values of Social Science teaching are —

(A) Social Value (B) Democratic Value
(C) Artistic and Recreational Value (D) All of the above
gt e freror % qewr € -

(A) I T (B) i e

(C) AT IR FARSHTHD oo (D) 3w At
Summative Assessment is inappropriate for the following :
(A) Deciding upon the grade

(B) Summarising student learning

(C) End of the term assessment

(D) Monitoring the progress of teaching — learning process
HehoTTcHeh HedTeh [H o ToT 3TIIged & —

A) vt () g s o

(B) forameff stfermm o1 AR GEw dAR HA A

(C) THATd Hoiehd |

(D) Treror—arferm fsran &t woifar o frmoeft o
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Which of the following subject is not included in social science at the upper primary level ?
(A) History (B) Civics
(C) Geography (D) Psychology
=1 5 @ % a1 fawr 3= werfires waw X amrferes fomm o aftrfora @i @ 2
(A) sfae@ (B) WTReheIEA
(C) T (D) HAIeRH
Which one of the following is the correct example of ‘Application objective’ of teaching ?
(A) Define (B) Classify
(C) Establish (D) Recall
71 7 9 Treqor <6 ST 3w’ T HE 3T & —
(A) TSI & (B) afiehtur SET
(C) T T (D) TN AT
Main components of Information Technology are —
(A) Software (B) Hardware
(C) User (D) All of the above
AT Tehrileh! o T U & —
(A) TR (B) EIEaW
(C) IuANTeRdl (D) Iuderd |t o
Which permanent wind blows between 30° South to 60° South latitudes ? "
(A) South — East trade winds (B) Polar Easterlies
(C) Westerlies winds (D) North-East trade winds
I Tt Tmh ga 30° faoft Steaten & 60° gierft sraTeli < Hex yatted il & ¢
(A) wfem-glemiE T (B) e e
(C) UgT UaH (D) IT-ET =rTie ga
Where do willy-willies cyclones originate ?
(A) West Australia (B) Pacific Ocean
(C) Atlantic Ocean (D) Indian Ocean
foreft-forefis =shaTa FEi SA=T Ba & 7
(A) afvest stegfer (B) 9T HETETR
(C) 3TEATNEH HETERR (D) T&g HEENR
Which of the following oceanic currents are located in the South Atlantic Ocean ?
(1) Brazilian Current (2) Benguela Current
(3) Oyashio Current (4) Gulf Stream Current
(A) 2,4 B) 1,2
(C) 3.4 D) 1,2,4 . .
FrefeTiiea HETErT R grsT | § 9 @ gw glerlt steies neErR | fed 8 7
(1) TShferRE g/ (2) ST 9w
(3) STETRE! 9w (4) TeH W g
(A) 2,4 B) 1,2

©) 3,4 D) 1,2,4
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Dehradun, Kotlidun and Patlidun are located at

(A) Between Himadri and Himachal

(B) Between Himachal and Shiwaliks

(C) South of Shiwaliks

(D) North of Himadri

<BUIGH, hiceiied Ud rectied fd & -

(A) Teurst 9 feameet < aex (B) Temreet a fRranferss & qe
(C) Toranfers Hefmftamiw (D) femml & ST wmi w

In August, at which latitude does the Subtropical Easterly Jet Stream blow in India ?

(A) 8°North (B) 15° North
(C) 27° North (D) 37° North
I HIE H WA H IuTsorehieaea qaff Sie ¥ g fope 3teqmer I anfed it 2 7
(A) 8°3W (B) 15°3IW

EE
(C) 27°3IWM (D) 37°3IW ’Eﬁf

The correct order of the physical regions of Rajasthan located from North to South is
(A) Vindhyan range — Luni Basin — Shekhawati Region — Mahi Plains

(B) Luni Basin — Vindhyan range — Shekhawati Region — Mahi Plains

(C) Shekawati Region — Vindhyan range — Luni Basin — Mabhi Plains

(D) Plains of Ghaghar — Bhorat Plateau — Shekhawati Region — Luni Basin
TSR o Wik TC1 o1 3T § G1&avT feem o Srafefd o1 @&l A 2 -

(A) Taem aoft — ot 9fe — SrETedt yeo — AT 1 AeH

(B) o S — faem Soft — sraredt yew — A 1 AeH

(C) I@Tad U — foem Jvft — ot afe — ATl w1 M

(D) TR 1 HGH — HIE 1 ISR — IGEE T — o SfeH

Which of the following is an example of Arabian Sea drainage system ?
(A) Menal, Kothari, Berach (B) Jojri, Berach, Menal

(C) Kothari, Som, Ruparel (D) Jojri, Bandi, Jawai
FrefeTled § 9 3T AR 3T9ETE T T 3CTET & -
(A) TS, HIBH, 959 (B) Wisiel, 94, AT

(C) I3, §H, IR (D) SIS, SEl, JET
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133. Match the following :
Name of Sanctuary
(1) Desert National Park
(2) Todgarh Raoli
(3) Sita Mata

(4) Mount Abu
» 2 & @
A ¢ a d b
(B) a c b d
< d a c b
(D) b d a v
ﬂ'ﬁ%ﬁaﬁm:
JAHINUT <kt A
() TdEwesEm ()
(2) 2remg Taett (b)
(3) rar ()
(4) HE=< 3T (d)
» 2 & @

(A) ¢ a d b
(B) a c b d
< d a c b
(D) b d a v

134. Match the following :

Mineral
(1) Lead Zinc
(2) Copper
(3) Gypsum
(4) Wollastonite

Hm @ G @
(A) b v d a
B) ¢ d a b
(C) a b v d
D) d a b v
ﬁ'ﬁf\aﬂ I

LCIEn

(1) e St (a)
(2) dfean (b)
(3) fom (©)
(4) =leieMTEe (d)

Hm 2 & @
(A) b c d a
B) ¢ d a b
(C) a b c d
D) d a b c

87

Wild animal
Panther
Bear
Great Indian Bustard
Flying Squirrel

(a)
(b)
(c)
(d)

Use

(a) Electric Wire
(b) Fertilizers

(c) Ceramic

(d) Battery Acid
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The headquarters of North-Western Railway Division is located at

(A) Jaipur (B) Ajmer

(C) Kota (D) Jodhpur

I -TTay IeTd HUEH 1 JEATerd ferd & -

(A) SR (B) 3R

(C) reT (D) SEE

When did Rana Sanga died ?

(A) 30 January, 1528 (B) 30 July, 1527

(C) 28 August, 1529 (D) 29 November, 1530

T | < I S 7

(A) 30 SFad, 1528 (B) 303, 1527

(C) 28 3T, 1529 (D) 29 HdwH, 1530

Who was the founder of Vishnoi sect ? o
. .. .. b ]

(A) Pipaji (B) Achalnathji Eﬁf

(C) Jambhoji (D) Ramanandji

ToreiE TrIer & Yads SiF & 7

(A) diorsit (B) SIS

(C) Sarh (D) TGS

Who was the editor of the newspaper “Pratap” which gave wide publicity to the Bijoliya
Peasant Movement ?

(A) Ganesh Shankar Vidhyarthi (B) Rama Kishan Verma

(C) Manikyalal Verma (D) Ramlal Ojha

ferstiferan fopem 3T=gier b1 SAT9eh TR ¢ aTel HHTER-9 “TdTd” & TU1eeh i 9 7
(A) TTore TreRt feremeff (B) T fohe ami

(C) TR It (D) THATH 3T

When was the Matsya Sangh established in the first phase of Rajasthan integration ?
(A) 30.03.1948 (B) 18.03.1948

(C) 11.11.1950 (D) 28.03.1949

TISTEIT — WehIehtUT & J2H <ROT H Hoe Tl <h TATHHT el 8 7

(A) 30.03.1948 (B) 18.03.1948

(C) 11.11.1950 (D) 28.03.1949
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Where was the “Rajasthan Seva Sangh” established in 1919 with the contribution of Vijay
Singh Pathik, Ramnarayan Choudhary and Haribhai Kinkar ?

(A) Bhinmal (B) Raipur

(C) Alwar (D) Wardha

1919 § TR Tl e <hl AT faerafie aftes, T =tedl 3T gies fohe &
ANTEH ¥ el 5% 7

(A) HHH (B) WX

(C) 3R (D) 9uf

During the reign of which ruler Pichola lake was built ?

(A) Bappa Rawal (B) Maharana Lakha

(C) Rana Sanga (D) Rao Chunda

TorsTen sl <1 formior fore sTreres o et | g3 ?

(A) T T (B) HERIIT TGl

(C) o EIm (D) T 9uel

“Jaisingh Karika” written by Sawai Jai Singh related to which subject ?

(A) Astrology (B) Economics

(C) Politics (D) Military administration }
Tas srafie grt fafaa <safes wifer ame ue e favg d gefm g 2 Eﬁ?
(A) Sfay (B) AYWTEA

(C) TSI (D) &=-y9ImEH

‘Pichwai Painting’ related to which school of painting ?
(A) Kishangarh School of painting

(B) Bikaner school of painting

(C) Alwar school of painting

(D) Nathdwara school of painting

e e forg feeeren It @ wefaa @ ¢
(A) TersrTe fasepet et (B) siehR fersenett Sett

(C) T famehen Aeht (D) UGN fertenat 2t
‘Rangadi’ and “Nimadi’ are subdialects of which Rajasthani dialect ?
(A) Malawi (B) Wagdi

(C) Hadauti (D) Shekhawati

TP 3R ey form ToreTh aiett i Jusiferat € 7

(A) T (B) amEl

(C) =l (D) SrETE

Who was also known as ‘Meera of Wagad’ ?

(A) Meera Bai (B) Gavari Bai

(C) Koyal Bai (D) Kali Bai

I GTTS Sl HR 6 98 F it ST STt oft ¢

(A) (B) TR aTE

(C) g a8 (D) hTell 918
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Which one of the following is not the aim of Social Science ?
(A) Intellectual and Mental development

(B) Utilization of leisure time

(C) Helpful in bringing social changes

(D) Teaching etiquettes

= 4 @ o w1 amiies fog s s T R 2
(A) difges o aHTEes faem (B)  3TShIRT < T 1 HGUATT HLAT
(C) EMTRTeh YT & § TR a1 (D) freqor frwem

The importance of teaching-learning material in Social Science is :

(A) Save time and energy (B) Clarity of the subject matter
(C) Both (A) and (B) are wrong (D) Both (A) and (B) are correct
TTToeh fosm # fregor-silrm gt w1 wEw 7

(A) T8I 3R qfem & a=a (B) T =g i Tama

(©) (A) 3R (B) GHI TTer & | (D) (A) 3T (B) SHI 71 & |

‘Social Science refers to those branches of the study that deal with humans in their social
relations.’ This definition was given by —

(A) Columbia Encyclopedia )

(B) Britannica Encyclopedia ;@ﬁ

(C) Encyclopedia of Social Sciences =

(D) Report of, The Commission on Social Studies, USA

“graTforeh foR & arerd 31 Y 39 ITEIST ¥ 8 S G 0T i 3ok AT gl
e T g9 § HETdl id & |7 98 TRATT g g —

(A) IS TIATSFAMI ST

(B) fsrefrent wramsamdifen

(C) TAHTEFAMITSAT ATh T TS

(D) IR TR TN, 3,04, T, i b

Use of Information Technology in Education started first in which country ?

(A) Britain (B) USA

(C) France (D) Germany
AT Tehriteh! b1 T3TeqT T Tgel ST fohdt <1 | fehart 1T
(A) Torem (B) .WH.T.

(C) wiH (D) St

Which criteria is not correct for a good evaluation ?

(A) Validity (B) Reliability
(C) Objectivity (D) Subjectivity
Teh 378 Yoo o foTT hid |1 ATvee Wel Tai 2 2

(A) dgar (B) fergarerfrran

(C) wEgHBa (D) SARFIHAT
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INSTRUCTIONS / féu
(Read carefully and comply / &9 & 9 3R e #%)
IMPORTANT / wieear ot

. In Section II (Language-I) a candidate has to attempt the questions of the language which the candidate has selected as Language-I in the

. In Section III (Language-II) a candidate has to attempt the questions of the language which the candidate has selected as Language-II in the

. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place in the

. The candidate has t0 answer of that subject in Section (IV a) Mathematics and Science or (IV b) Social Studies as selected by the candidate

Online Appli F
@%1??(5%cstl%nsﬂ%r%maauaﬁﬁwwaﬁaﬁ%ﬁﬂwwwawﬁ%mml%mﬁmaﬁﬁwﬁﬁm%|

Online Application Form. The Language-II will be different from Language-1.
GUE [11 (TS~ 11) W6 ATETh T 1 b AT ST & IoT8 AT BT S SIS WIS - [[h &N AT ST1ae - T A R | e - 11 arer - 18 forea et |

OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not

Question Bookleat%t Nfl%,'-mber fre 3 e T R ;. 2 fiz .

s () 9 NAELG I h LiRE THE 5h. Ky | TR OMR I =T H{ATHT

- ai%ﬁmﬂ—mm@ﬁmw %amrr(q'(%maﬁm|

in the Online Applicaton Form.

If a candidate answers the questions of the langu dge or subject other than selected in the Online Application Form, the candidate shall be

personally responsible _for it and it would be treated as wrong.

gﬂaﬁﬁmwggﬁm 1V a) TG T fa=m a1 (1V b) AT segaa & 96 fawa & weEl & g & g, S fowa &1 s s
AT -9 |

gﬁ%awa AT TG -U= | =wgfad 9T a1 fawa % WAt F e 7 G o fawa & wedl @1 g et @ ) 9g g i @ A e

qAT AT AT ST |

Read complete instructions carefully and fill the details from S1. No. 1 to 7 in the OMR Answer Sheet and S1. No. 1 to 4 in the Question
Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the consequences arising during
scanmeé of your OMR Answer Sheet.
TTH ﬁtmlﬁ7WOMRsﬁE®W1ﬁ4a$m—«rg%m(§aﬁsz)aﬁu%|uﬁmwaﬁ%%ﬁa¥w
‘mﬁmzﬁnwmﬁ% OMR <ffe it THTT & Fewaed g 9T TROmE & Fid T @ et g |
The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet, only then the candidates will open
the Question Booklet seals. Check whether the Booklet contains 150 questions starting from Page No. 3 to 90. The Shift Number required in
OMR Sheet will be as per admit card issued to the candidate and also mentioned on the top of the Questlon Booklet.
EECE T 96 I8 UL 150 W& © | Tt ey 57 9 & W € w9 - & "o wg gifeag = & T ge-gfeaan # 150
Tee § S 6 U8 e 3§y 90 @& &_| OMR ffe W firge TR gl @ SR o6 T8 793-99 & AGER sAfeha Bl € T W
T -GfEqHT % SO AT R AT sifera R €I R |
All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one mark. There
will be no negative marking for wrong answers.
T3t we Tgfrmedia yER % & | o W o U fershed € A R | e e % fordt frarffia ofe w2 | o wrare 3 Rl ot ot et R wmi |
All questions other than language questions of Sections II and III shall be bilingual.
WH-YA & HINT G2 @8 11 T 111 & 9T o AfaiRed A8 a9 guet & we fgwrha g |
In any event of any mistake_in any question/s, candidates will not be penalized. However ng corrections will be made in question/s during the examination.
w9 7 ot e % fosd TreTa i fohEl WeRR T THETA et GITT | TXTTT ST ST 5 W1 # {ohel] TR T G el Beardl
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off from the
uestion Booklet. No additional paper shall be provided.
TR % TF h1d v W - et g ST S1 AT € | 38 WA -t @ 78 wie. | forelt yoer wht srfrfkad wne Suwes A€t saran s |
Use of Log tables, Calculator, Slide rule, Moblle phone, Pager, Dlgltal diary, Bluetooth, Microphone or any other electronic item/instrument
st ot glowed, Thelp e wil et n disqualficaion fore o S/ e 0 i At
, TES(1es I, ARG AT I YHR HT SEEu] ki
%Iﬁmﬂmqﬁm%mﬁﬁa%mmm% e ™
OMR Answer Sheet will be provided along with Question Booklet separately.
OMR ¢flc Us7-qeqeht & a19 SAfaierd Je i G%Tﬁ
The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR
Answer Sheet. The Question Bookletseal shall be opened 5 minutes before the start of examination and the candidate must fill 1 to4 entries correctly
on the Question Booklet. After opening the Question Booklet, ensure that any page/ question is not missing / not printed / torn / repeated. In case,
you find any defect anywhere in the Question Booklet, immediately inform the Invigilator and get it replaced within 5 minutes by the Invigilator.
Warmn Bell will ring at 5 minutes before closer of examination and the last long bell will ring at closer of exammatlon
YT -TIRqHT URIEAT_STTEA T & 10 foe 4& of st | awaﬁmaswwﬁOMRaﬁzﬁwﬁu%&uﬁ YRR § W_| T -
g%wa?rﬂﬁa,qﬁmm% 5 foete v @ra qu) % w1 ¥ 4 1 wlafsedt wit Hﬁwﬁ%ﬁ |1;rs‘=r gﬁ:—lm@ﬂﬁ%qsamqﬁma'fw
gﬁﬁmaﬁ%wﬁﬁaﬁaww%/aﬁémﬂwaﬁﬁ% BUTE It B /AT Tg FE I AR 93 T © | TG A9A-
g%mﬁ R H HTE Ffe IIE ST T qehied STeqeh H AT Sﬁ:l'rﬁ_’a?“ﬁ'cl'{ & T AUAT T - eI chl dqvicuﬁ | ﬂdlddl‘il?ﬁ
WT%}%SWH@‘W@WW@Q%W LCEC
Write your Name, Exam Center Code, Signature, Roll No., Question Booklet Series Code, Shift Number and Question Paper Booklet Number
in the gpace pr0v1ded in the Questlon Booklet as well as in the OMR Answer Sheet.
- 1%'T:%OMR sffe R feiika =M W TW, e S B FE, TEIER, AHF, FE-IEaE €W Fi8, fEe FmHie @ v gieaw
ShHTeh 3ifehd |
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find out which
answer, according to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR Answer Sheet corresponding
to the question. For marking answers use blue/black ballpoint pen only Gel pens/pencils are not allowed.
3T o TR deh (9% SR A, B, CI DH Q@I E_| AT ang IR BT FIT X I8 IR & OMR e H G {7 Wt shTeh o awed
Tﬁéﬁmwsﬁmﬁ|wﬁaﬁaaﬁ%%ﬁﬁ%mmwwﬁ?wéw&ﬁ®|§Eﬁﬂmﬁﬁr«saﬂ affa® |

Correct Method : [ corrECT /st Wrong Method : [ wroNG /e WRONG /e WRONG /et WRONG / e

i 000 @| ™™ ROOO||oQ00o||0o000O||CeC e

OMR Answer Sheet is designed for computer evaluation. If you donot follow the instructions given above and at the backside ofthe OMR Answer
Sheet, 1t m make evaluation b}é;computer dlfﬁcult Any resultant loss to the candldate on the above account shall be of the candidate only.

OMRS Egﬁ OMR ¢fie s fuee fea T fgant TE R, T B TIRT STIhT
%|wwﬁqﬁmﬁﬁ%ﬁ s ﬁ%ﬁwﬁm @?W e B

No candldate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the
left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy (Duplicate) so that the Original Copy is not mutilated
in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator before leaving the examination hall.
Candidate can carry only the Candldate s OMR [} w1th him/her. Questlon Booklet i 1s not allowed to be taken by the candidate.
TE Rredf STt Hel TSI b qd URien HE H TR IOMRQ mﬁi’-{ a%ﬁ%was TRERYA feRaT
%ﬁ% | swefl gaaT @ e aﬁw%(ajf%ﬂ'ﬁ)ﬁnysr% ? ug “g_?%ﬁl‘ﬁ&ﬂma
i‘gawaﬁOMRﬁF‘guﬁ@qw ok |3{Wﬂ°faﬁl?vrarq'rﬁ0MRaﬁ %ﬁa{qﬁmﬁiﬂ






